SFn 4 R JEE TR E
SMAFE 4 AT H S M543 H 31 BET
NP OEAN K
(Hp7 : 1)
A
BH SRISHEFER AR | DFAERE TREE 7
(A) (B) (B) — (A)
I B4R
1 W
EmBEZRASE 18, 000 0 ~18, 000
=R (EAN) 36, 000 24, 000 -12, 000
E=BEZRaE (1K) 0 0 0
g8 ha®E (EAN) 6, 000 2, 000 ~4, 000
s Bshiat (HIR) 45, 000 0 ~45, 000
2 ZEUE 4
= B AT B 4 2,748, 613 0 -2, 748, 613
i 5% 55 5 AN BEA A% 0 0 0
3 B e
= BN B B k4 28, 850 30, 000 1, 150
= B B[ B k4 0 0 0
4 FHENLE
AR —V R L DFENE 5, 399, 662 6, 107, 150 707, 488
Z O FE A 0 0
5 F DML
= BRI E. 23 20 -3
HMEIA 0 0 0
IS & 8, 282, 148 6, 163, 170 -2, 118, 978
I #&%#EH
1 HEHE
(1) NfF#
R4 363, 000 1,512, 000 1, 149, 000
B EEH] 37, 827 252, 000 214, 173
BTG 0 0 0
A A 0 0 0
NG 400, 827 1, 764, 000 1,363, 173
(2) Z OhRRE
WEE 1, 758, 284 1, 390, 000 -368, 284
- Gk ¢ 66, 050 130, 000 63, 950
R 0 0 0
DEE 0 10, 000 10, 000
HFESL B 280, 210 337, 800 57, 590
PREL 168, 495 240, 000 71, 505
EE 31, 463 20, 000 ~11, 463
BNy ¢ 99, 600 117, 000 17, 400
= SEAA L 9, 289 35, 000 25,711
1015 E R 49, 874 71, 000 21,126
5B 0 0 0
FHE 7,937 13, 000 5,063
ErigEE 416, 350 439, 150 22, 800
K5 88, 200 110, 000 21, 800
ek 110, 200 140, 000 29, 800
i B OVE R 474, 795 625, 200 150, 405
it S N 1, 760, 000 0 -1, 760, 000
Dak AT £ 0 2 0 0 0
FHBLAGE 0 0 0
BidiE=¢ 0 550, 020 550, 020
Z O 5, 320, 747 4,228,170 -1, 092, 577
EES -6 5,721,574 5,992, 170 270, 596
2 EEE
(1) NfE#E
152 B 70, 000 42, 000 -28, 000
R Y 0 0 0
L ERRAIE 0 0 0
TR RS 152 0 0 0
&R JE A= 0 0 0
N3 70, 000 42, 000 -28, 000
(2) Z DR E
AEE 0 0
B A B E 0 0
R 0 0
ik 2,922 10, 000 7,078
MERSTTE ¢ 3,120 10, 000 6, 880
PR 0 0 0
Rkt 0 0 0
FI1 Il B Ay 5, 700 10, 000 4, 300
1815 E R 0 0 0
R 60, 000 60, 000 0
Tk 0 0 0
B 10, 000 0 -10, 000
i B OVE 10, 030 30, 000 19, 970
RIS TRIN 1, 200 9, 000 7, 800
KHFI B 0 0 0
Z Ot 5 92, 972 129, 000 36, 028
BT 162, 972 171, 000 8, 028
BB HE 5, 884, 546 6, 163, 170 278, 624
R R 2,397, 602 0 -2, 397, 602
I A5 AN 2
1 EEEPETRHLR 0 0 0
5 MRS E 0 0 0
IV #2544 2 H
1 RS HERE IR 0 0 0
0 I HE 0 0 0
TE B U P JRcAR 2,397, 602 0 -2, 397, 602
EANFL (CFEERE) 0 145, 000 145, 000
2 1) IF R U pE ek AR 2,397, 602 0 0
P17 HEA e T I S pE AR 0 2,397, 602 2,397, 602
YR I 8B DR A PE AR 2, 397, 602 2, 397, 602 2,397, 602




